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#include <stdio.h>

int func(int a, int b)
{

int res;

if (a > b)
res = aj;
else
res = b;

return res;

int main(void)

{
int numl = 10;
int num2 = 30;

/*% Llamado a la funcién */
printf (" %d\n",func (numl ,num2));

return O;
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#include <stdio.h>

int max(int a, int b)
{

int res;

if (a > b)
res = aj;
else
res = b;

return res;

int main(void)

{
int numl = 10;
int num2 = 30;

/*% Llamado a la funcién */
printf (" %d\n", max(numl,num2));

return O;
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Prototipos

#include <stdio.h>
int max(int x, int y);

int main(void)

{

return O;

}
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Prototipos
#include <stdio.h>
int max(int x, int y);

int main(void)
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}
int max(int x, int y){

int max_val;

if (x > y)
{

max_val = x;
¥
else
{

max_val = y;
bz

return max_val;
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#include <stdio.h>
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int main(void)

{
int numil;
int num?2;
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printf ("Ingrese dos nimeros: ");
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return O;
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Prototipos

#include <stdio.h>
int max(int, int);

int main(void)
{
int numil;
int num?2;
int mayor;

printf ("Ingrese dos nimeros: ");
scanf (" %d %d", &numl, &num2);
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}
int max(int x, int y){

int max_val;

if (x > y)
max_val = x;
else
max_val = y;

return max_val;



Variables dentro de funciones
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Variables

#include <stdio.h>
int incrementar(void)
int a = 0;

return ++a;

}

int main(void)

{
printf("valor: %d\n", incrementar());

return O;

}
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Variables

#include <stdio.h>
int incrementar (void)
{

int a = 0;

return ++a;

}

int main(void)

{

printf ("valor: Jd\n", incrementar());
printf ("valor: Jd\n", incrementar());
printf ("valor: Jd\n", incrementar());

return O;
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Variables

#include <stdio.h>

int incrementar (void)

{
static int a = 0;
return ++a;

}

int main(void)

{
printf ("valor: %d\n", incrementar());
printf ("valor: %d\n", incrementar());
printf ("valor: %d\n", incrementar());

return O;
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Variables

#include <stdio.h>
int incrementar (void)
{

static int a = 0;

return ++a;

}
int main(void)
for(int i = 0; i < 10; i++)
printf ("valor: %d\n", incrementar());

return O;

}



Variables

#include <stdio.h>
int incrementar (void)
{

static int a = 0;

return ++a;
int main(void)

for(int i = 0; i < 10; i++)
printf ("valor: %d\n", incrementar());

return O;
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Factorial
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Factorial

n=1x---x(n—2)x(n—1)xn



n
1 cx(n—=2)x(n—1)x
nl=1x%-.

$--0x1
nl=nx(n—1)%(n—2)



Factorial

#include <stdio.h>

int main(void)

{
int factorial = 1;
int cont;
int num = 3;

for (cont = num; cont >= 1; --cont)
factorial *= cont;

printf ("factorial %d!: %d\n", num, factorial);

return O;



Factorial

#include <stdio.h>
int main(void)
{
int factorial = 1;
int cont;
int num = 3;

for (cont = num; cont >= 1; --cont)
factorial *= cont;

printf ("factorial Yd!: Yd\n", num, factorial);

return O;
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Factorial

nN=nx(n—1)x(n—2)%---x1



Factorial

n=nx(n—1)%x(n—2)%---x1

n'=nx(n—1)



n=nx(n—1)%x(n—2)%---x1

nl'=nx(n—1)!

Ejemplo:



n=nx(n—1)%x(n—2)%---x1

nl'=nx(n—1)!

1
Hemplo Bl =5%4 %3 %2 x%



n=nx(n—1)x(n—2)%---

nl'=nx(n—1)!

Hemplo Bl =5 %4 %x3x2x1

51 =5x%(4%x3%2x1)

* 1



n=nx(n—1)%x(n—2)%---x1
nl'=nx(n—1)!
Ejemplo:
Bl=5%4%x3x2x1

51 =5x%(4%x3%2x1)

51 =5 x (41)



Factorial - Recursivo

#include <stdio.h>
int factorial(int);

int main(void)

int num;
for (num = 0; num < 10; num++)
printf ("%d! = %d\n", num, factorial(num));

return O;

}

int factorial(int number)
{
if (number <= 1)
{
return 1;
¥
else
{
return (number * factorial (number - 1));
}
}



Factorial - Recursivo
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Factorial - Recursivo

#include <stdio.h>
int factorial(int);

int main(void)

int num;
for (num = 0; num < 20; num++)
printf ("%d! = %d\n", num, factorial(num));

return O;

}

int factorial(int number)
{
if (number <= 1)
{
return 1;
¥
else
{
return (number * factorial (number - 1));
}
}



Factorial - Recursivo
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Factorial - Recursivo

#include <stdio.h>
unsigned long long int factorial(unsigned int);
int main(void)

unsigned int num;

for (num = 0; num < 20; num++)
printf (" %u! = %llul\n", num, factorial(num));

return O;

}

unsigned long long int factorial(unsigned int number)
{
if (number <= 1)
{
return 1;
¥
else
{
return (number * factorial (number - 1));
}
}



Factorial - Recursivo
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Fibonacci
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Fibonacci

0,1,1,2,3,5,8,13, 21,



0,1,1,2,3,5,8,13,21,

fibonacci(0) = 0



0,1,1,2,3,5,8,13,21,
fibonacci(0) = 0

fibonacci(1) =1



0,1,1,2,3,5,8,13,21,
fibonacci(0) = 0
fibonacci(1) =1

fibonacci(n) = fibonacci(n — 1) + fibonacci(n — 2)



0,1,1,2,3,5,8,13,21,
fibonacci(0) = 0
fibonacci(1) =1

fibonacci(n) = fibonacci(n — 1) + fibonacci(n — 2)

Implementacion:



0,1,1,2,3,5,8,13,21,
fibonacci(0) = 0
fibonacci(1) =1

fibonacci(n) = fibonacci(n — 1) + fibonacci(n — 2)

Implementacién: A cargo del alumno
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